NP/5

® @ @ @>Q
‘)5»\)
@ﬁg‘ - (@W

—

| ) |
o‘—‘: ‘\ \
\\\ |

) (1) (20 (e

—




POZ. NAZEV - ROZMER NP75 | MN.

TALIR SE SROUBEM 4151
VYTOK NP75, 90 6424
TELESO 6400
TESNENI TALIR 93x70x3 4241
KUZELOVY VENTIL 1 1/4" S TESNENIM | 4157
TESNENI VENTIL 50x25x5 4158
TESNENI VYTOK 128x78x65x3 6408
TESNENI SVRCHOLEK 118x88x3 6407

TESNENI SROUB 19x13x2

SROUB M12x16

SROUB M12x45

SROUB M10x25

MATICE M10-6-A2E

MESICKOVA PODLOZKA

NINININININ (= = = = = = =
U|R|WN |~ |S|v|o|No U |WN R[] LR INO\UT R LN =

PIST - 251 - pr.75 6511
TAHLO NP-75 6404
NYT 212x40 6409
ZAVLACKA 4x20

PODLOZKA g12

SVRCHOLEK 6401
VAHADLO 6403
SROUB M10x45

PODLOZKA 10 A2E

NYT g12x70

MANZETA 6530

== WINFERFEINOWNEFEFEINNDNN = = = =

15+16+17+18+19+25 PIST S TAHLEM | 6405




